
II.

2001-484
M5x20 Hf bkny csavar

18400-239

29900-250

Product.: Lang

1. Seite
Belső használatra !

226152-1506

21 8700-127

I.

2001-017

5025-003A

M5x8 Sf csavar

M5x6 Bkny hernyócsavar
2001-015

3

I.

K3670 Knossos

6536-01523

II.
15600-055



Product.: Lang

2. Seite
Belső használatra !

75633-029B

13

12

1982-001

1982-011

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

65611-050

10 5311-146A

121982-011

145540-093

5611-049 5

M8 Alátét
2003-008

M8 Hl Anya
2002-007

13 1982-001

131982-001

15 6611-004A

85311-040B

95335-370

2001-384
M5x12 Hf csavar

M5 Acél alátét
2003-003

2002-003
M5 Hl anyaM5 Acél alátét

2003-003

K3670 Knossos

11

115833-023A

5833-023A



Product.: Lang

3. Seite
Belső használatra !

19 6081-318A

18

16 6081-166D

186081-317

16

176081-167D

17 6081-167D

205490-020A

Feuerraumauskleidung
(9900-380)

6081-166D         2 Stück
6081-167D         2 Stück
6081-317            2 Stück
6081-318A         1 Stück

1. 8.
Reihenfolge:

Lage des Feuerablenkrahmen

1.

7.

8.

2.

3.

4.

5.

6.

6081-166D

6081-317

K3670 Knossos


